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N.B: 1. All questions are compulsory. : 5 T et R SR _

2. Figures to the right indicate max mum marks.

| Q.1 (A) Select the correct answer from the options gwen I?esgww{‘_"'ahx}tem
11 _ refers to internal arrangement of machirnes, equ‘pmepts?lmaﬂ or?:l\ergyaﬁanner :
to facilitate smooth production activity. ( Plant ]oeai;;@n, Planf layomr, Pmductdesrgn)) :
| 2. isuseful quality control step of Productloﬁ Flannmg\hn“d Contr-‘.:-h 3
| ( Routmg, Follow-up, Scheduling) .;_-“ > Ay
3 is balance between all factors of produ £
_ minimum input. ( Production, Pmductmtfg: ?I‘echnqlogy} &
| i control is concemed~wit1;1 the end resgluo
' (Inventory, Material, Quality) -
&, 2. The International Organisation-for S”tan“tiﬂrmsa}leml*rioea‘ted«i
: (Switzerland, Scotland, England) = .0 B

3. External failure cost resultmn\custometé" 3
(satisfaction, dlssatlsfact“en e!igﬁt}\ 4

4, is aILekample mfunergaqztzeﬂ moﬁey m
(RBI Commercral Baﬂks J&ld‘rgeno“us"ﬁankersg_ ~ -?_J-_ L
o {érm fﬂrlds' £

‘1_.)-
N

2
R
Nty

pte@]g,le.ﬁ ﬁmor rich, both)

10. ASe]ﬁHelpﬁ:o 11‘ a_. at __F_._
_'AI:IC)

f Ihcha“s ﬂrst muﬁmrﬁnd QS’;EI

PSS

' QB}SmmMefher fhei‘ﬂllpmng statemen?sa ;e»E[‘rue or False (any ten): (10 Marks)
“‘I BEI?;T and: CE!M, aﬁe 1mporiqr_1¥ technj(ques for improying productivity. ‘
2 Cﬂa Eegg@h Emdhqﬁon is a;‘ferm qf‘eehﬁnuouspmduetlon system. f b

i

T lﬁnﬁoper‘ mh:e:aalhandllng mlmt_n:lses . the wastage in productlon planning and

R S &, “I.'he”te»t}ly{lfemgl Qus_{mmers means employees of the organisation. 3

AR ;5 ! ’I‘Aﬁ&J apaniese. i.ernﬂ.{iuzen stan“ds for change for good. S '
: m-e que andﬂffee(‘gs Ahalysm (FEMA) is an element of Six Sigma Appreiaeh.. &4

J

QR

+ 6. Failu

g ‘:IP“:BQ: I
' temerei&[?aper&ane‘essentmlly unsecured debt instruments. : § L 5
-.NSDL LSJ:he*lanEest depository in India. 5 o e

- 14 _;Hedgmg is done to reduce the risk in financial markets. .
14, ghmbaters are one of the sources for funding start-ups. _
@ﬁf—shore mlitual funds attract domestic capital. f
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Q 2. Answer any {wo of the following: (15 Marks)

the scope of

t? BExplain

What is Production Managemen

a)
b)

orie

Explain briefly the classification of In

)

>

entory Control

Discuss briefly any six techni

©)

: (15 Marks)

8) What is Quality Circle? Explain its features.

b) What is Kaizen?

Q.3  Answer any two of the following

Discuss its process

service quality

¢) Describe the importance of

S AT
gencies

(15

a) Explain the Dematerialisation Process.

"
-

it

b) Discuss the functions of Stock Exch

Q.4 Answer any two of the following
¢) Deseribe the three main C

ange
Rating Agencies 0

Q

5 Answer any two of the follow

‘ T

L1
o nLaaw
:- -

for

nsible:
lain.

a) What are the factors respo

b) What are Derivatives?
¢) Explain the imp

ic

Exga
of Mi

ortance
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Please check whether you have the right qucstlunrpapér
All questions arc compulsory,

2)  Figures to the right indicate full marks, ; s e

N.B.: 1)

11

2)
3)

11)  Audit programine. m;:s_tbefi

Sl
-" a.'F-.' .'

1. B) Mach the Colqmn‘s (Any. ﬂni:

A) State whether the following statements are True of Fai'ge i’;&
1) A voucher decides authenticity of the trmactm 3
Internal audit is compulsory for hﬂted-campanies .

There is no risk involved in audit samjjlmg,

4)  Frauds do not affect financial statemems '. N
5)  Copy Right is Current Asset, = - : ‘ &
6)  Secret reserve means part ef-pmf{tsr §ecret1y,reaerveqlrfar futu:{wa
7)  Aim of Internal Audit R.g]:-oif&;jvh
8) Inventory is valued at-cost or 'NE
9)  Routine checking sa'vasr‘tlm& Ufﬁ'lfr a‘uglif?:g}’ s ‘?3,5 -

10)  Repairs to buﬂdm&]l,ﬁ dahlt;dm*ﬁﬂllﬂlug}ﬂ'tcﬁumiﬁaQﬁm ofﬁ:ﬂcmle

: ““‘521{@“& Sy :
12) Cnncumentiﬁpdft i's{d wiﬂi’tﬁ;ﬁ:duﬂ‘ﬁncmfﬂré&gnﬁmnnﬁ#

myd}o/w/ Aﬁ/gp
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ﬂads 36?-59

Golnmn

\. ;.-_' ﬁthjlqmif‘B‘

1) sfauﬁgfg,audﬁqré :

,l n}' ; %]ﬁer?@hﬂfl

2) . AnAwdior .315 '

"f ) Prindiple of Auditing

3) . Manipulation af'{scﬁaﬁhts_ =

c}a ‘Memorandum of Association

myﬁaﬁbisd:--*-

) Mdlt,ﬁbn:ef Eook TS O “Random Number Table
S5 LR o N '-.,“ S ) Error of Commission
.26 Audit Bani'piﬂ‘:g ‘.ﬂeport to shareholders
_- : 7) o “Fm% A}igt ~ Audit working papers

Done at the end of the year
1 5 Should be Independent
.Dacgfnent*fbb(,‘i"\aq T Intentional mistake

.

S . v 1.31} : *fl}é}fl(ﬂe l‘ec‘ébtded tW 6

Management fraud

Used for debtors verification |

L

ik s 2 - ..(-.

A7 - A

R e T -;,— f!} 'J

f-r-’-e-,-:-' [ ey
L

.-1|1

g .;.'wﬁﬁ“‘tﬁ._. ] i

\ﬁﬂjﬁl jil'ﬁg_fhe acﬁ."gniages of Interim Au
}L Wha.i‘anﬁ Ih&drawbacks of Continuous Audit?

= ,&i’,) léunglﬁsthtwenn m;:untmg and Auditing~ _

«-: 3 mpﬁi‘ni 1;h ¢enn ‘medow Dressing'. What are the objections against it?
T & OR
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importance of Audit Wor

C) Explain the

3.

tials of good Audit Programme?
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d) All of these
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b) several selling ideas
d) all of these

is suitable for a brand of s
T
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a) Low involvement

=

sing is su

-

ition’ involves

1. (A) Select the most appropria
),

b) Seasonal

medium has greatest flexibili
b) Magazine

method of fixing advertising budget is

a) Percentage of sales
b)

‘ Dimag Ki Batti Jala De’ sl
b

w

Cy

uyi
Saak e
‘Unique Selling Propos

is essen
a) one selling idea

a) Mediaresearch b) Co

(i) V

nvolvement

15458
1

media scheduling strategy

a) Cameraman

1

2. Figures to the right indicate full marks

1. All questions are compulsory

¢) All you can afford method

Qut-of- home adv
a) Global reach
¢) Deciding the theme

a) Bursting
a) Film

a) Mentos
A woman b
¢) Casual

(®
(ii)
(i)
(@v)
(v)
(vi)
(viil)
(x)
(%)

N.B.
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Hard Sell

Body copy

d)
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Caption
Soft Sell
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(1) State whether the following statements iEe e O Hidie (ANY TEN) ;, ﬂ’ y
,on)  Magazines an a medium allow more weleotivity of tarpel frimeleat, : ;’, % ,lv 4
©b)  Radio as a medium has the advaniage of grabblng atention while mmww
engaged in other notivities ) '4 £ o
¢)  Television is more \nteraotive than the print madin ,_. 4 Aﬁy y
»d)  DAGMAR model ropulates advertialng VAT i ;,w £ ' &

3.

»¢) A Selling Point 18 & quality ot featire it ean ereite ﬁllllnttg;‘? Iﬂ f prmltlﬂt of ﬁm-m

. g  Divergent thinking i helpful for Viguallsation,

e

s i
f)  The products which are avitllable near the cheok: soul couﬁﬁ o "I'g.ﬂ[]@d A
involvement procucts. ,"rﬂf-'?#"f‘mb'* g ol 7
L } :

h)  Recent Five Star chocolate advertiserments are an ghs PR, ;:*,J
i) Story boards are uaa:l for ereating an m’wm'tinam!m ) };:}{L:F ‘-f
i) Photographs are mote bellevable in ‘before tg!& "'5; !j;fl:j’,';’

k) Descriptive copy Is suitable for financial Fﬁl‘)ﬁ ,..'5_{_;#. fe 7

1) All advertising campuigns nuad {0 be Lgﬁz*h L r“:' '.r,'f'
Answer ANY TWO of the following! m, ,#;\ J -:Q (18)
a) Bxplain the limitations of Print adver ‘lﬂ, u;;ﬂ*'

b) Discuss the advantages of lntemeL.p

c) Write in brief about the Dumd

e .F"‘\ rcl’: 'b:" o

Answer ANY TWO of the fo &lh ":@ (18)

a) What are the steps while planmiig _a Ayt
b) Disouss briefly the faotorsule tri a4

¢) ‘There are several mg.;l Qo g media for advertisling’ D igcuss
Answer ANY TW (15)

a) Elaborate on the Wept '. ety yettising with the help of any one practical
example 5 hy N
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(2) Figures to the right indicate full marks

(1) All questions are compulsory
1(A) Briefly describe the following (any 5)
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[Time: Three Hours] v
Please check whether you have got the right questio

NB: i) All questions are Compulsory subject to I EhieﬁthCho

ii)  Figures to the right indicate maxlmu\m ;mai‘ks T

Q.1 Attempt ANY TWO from the following: . '; \

a) th:- is called as a Promoter of a company? Drsmm@thﬂ Qﬁlﬁ‘a r gh i
b) Explain the concept of Registration / Ineorpgrgﬁ ;Df &‘Cﬁmp
Registration of Company. : R4

¢) Write a note on ‘Doctrine of Indoor Ma@age@ At
d) Explain the concept of ‘Private Placemgﬁ mﬁe&mL

Q2 Attempt ANY TWO from the following::
a) Who can become a member in a:
b) Discuss the various types of Dn:qcmx;g.,\ ?\-Hl_ f,

J.r

e
¢) What do you understand by\Hmes:’t‘or l@lent,gﬁ‘
Membership. SRS

d) Explain in detail the concept
% meetings. '

10

10

Q3 Attempt ANY TWO ﬁnm‘;tm\joﬁh‘w; 5
O Discpa e con"cﬁgt oL e Waﬁst’ﬁmwm tﬁe‘ *’ﬂm‘lﬁ feﬁtulefs of a partnership as per

Lo ke
f‘-\ = -\\

Indian Partnership: Act }‘932 =
b) Explain tha:rnearﬁﬁagefBlssolﬁﬁogl nf

dissolution o‘fazpﬂmm 1
) Explalm‘the pi‘bce@hg% fo d@"
d) D:st:.ggm‘sh hetgeee-nhv

o

,'\-
=
o

Q4 Aﬁemptﬁﬁ%‘f}w' fr%rﬁ\&he‘f@]a\wﬁ\g:,r -3“@'
a) Give the ni’canhgof: ‘aﬁﬂqwm‘g tmﬁ&

j)Gﬁ'nﬁ

'b} W]I‘O:E t.a.g‘g{:leyei‘consnm :
S &Egthmeﬁ'@af Ct}ngunifﬁr'l}lspu £

U}.~ Exptam in bﬂe‘fxzatinua I‘eatg:es,oi‘ Competition Act 2002.
xli Wr;tc: a,mtc on ﬁnt—wc,’ompeﬁhve Agreements’.

‘pt ANY" WO ﬁ:am‘tﬁeﬁﬂowg
éh} Dumms-ﬁﬁacenpcp‘t  of “Intellectual Property Rights’ i
3%%&3 Pal m@@k;md what is not Patentable in India. D

: tanfhd’lm N ;
& @ Discuss the provisions relating to Fair use and Infringems
<-4y Wﬂteﬁ.ﬁé‘@’m@ure for regstmt:on of Trade Marks
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m-—-—-———_________ B

g Lol ; g AReines 't! it s rﬁlaJ LY ) g et T S
Rl 2k "“j,“ Gl A e
g P i e -.:‘L".,»: P e A
E(J fIJ' /{j ’1’ J} r : " J __,I;..,. . 'I‘lr-:::: f.".::\,:":- ' '_\L‘-‘,; )
'Qiﬂs"ﬁﬂ;!; r';-z-'a 194 . -

Time : 3 hours

1. All questions are compulsory W 5._; :

2, @ no. 1 8& Q.6 carries 20 marks. SFES

3, Q.2, 8,485 carrles 15 marks Vg

4. Use of simple calculator Is allowed. e :3': &

Q.1 A) MULTIPLE CHOICE QUESTIONS. (any 10) vETS

1. RBIsa : e H SRt L
a) Statutory company b) Reglstered‘mmmpﬂnv 0L %"r _MQ‘;QQ '
¢) Listed company d) Chart&rhd qamnanv :', RS o T R

2. Discounted bill of exchange s a_d o & My _'.;'f-‘ﬁ-;f_..f-' ,fw
a) Contingent Liability  b) Cuf’raqtltabﬂlw b Ay et '
¢) Non-Current Liability d). leedLlh_hilltyﬂ. PR ::\L“---s?"" e : '

3, Partly pald shares can be made fullv paid bwta‘pmqlﬁln S
a) General reserve w:) Se:curll;]&s Rramiu e
b) Capltal Redemption Raséwa d] All'g‘fthe ab@\f&‘“ e

4. Bonus shares cannot: be issue;d by chmtallttng, ~TEEOROLS
a) Revaluattomqs@l‘va )Qapiﬁal ﬁia@ewe *‘n‘,‘
b) Securities: m@rﬁtum d} Génauﬂ Bﬁsg\m@ £ -‘;,\

5, Discount an lssueut:t‘ Qabenturas sas —¢—=%-13‘ Sl
a) Capitallass o nI Revenueloss - \«“‘
b) Cahitnlﬁmﬂt )m\?ghun pmﬁt J‘g 3

6. The Contpanias Act: itu&,..,_e_,;@ TR '
a) aprescﬂhas reatrlctlan?& cn*iss*tl\e- of débeniu?es at discount

p) Does not p\rascﬂba any’ FmtﬁatTu@‘nn issue of debentures at discount S|
" R *P‘rs\ﬁdas no iss‘-ua oft Habanturasﬁt‘aismunt AR
) Allgfthe above ¥

7. The reserve which gannot be ’cnﬁ(lsfﬁrred to Capital Redemption Reserve_
e -'ﬂ Emurl,thstpramlum Ale ¢ Revaluation Reserve
T '; ‘ML Rm%prlqs ta Innurpor»atlun d) All of the above

\. TS ? qupqn\!mﬁ issuq;____

4"? ) ';"'. R O] “i Only redeemable preferance shares c) Only Deferred shares
'. S S TRAT ‘Quly rredeemable prefarence shares d) All of the above
™~ o & ‘Debentures may hu ‘redeemed out of i
_"j_,j R T R b) Profit ;
| :k ‘* ﬂ% Fonwrslnn inta shares d) All of the above
g- Ay o :aﬁ Capital Reserve e e
| -""igf,-f’,_» ) Cutrantyear's profit b) Past accumulat
- 11\’3;; ;\; & @:1. ﬂ- li prafit d) Divisible g

;"I;i.é“l ; .l‘ - g
A0l ﬂ. | BROCITFRSSACA

11
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11.For computation of pre-incorporation profit carriage on pu;ehases‘is St Vol
a) Allocated in sales ratio b) Allocated m pﬂrchase i'afiQ o g G
¢) Debited to pre-incorporation period d) Debited: to nastefrtcorpnraﬁorr pe_mbj:i
12. For computation of pre-incorporation profit traveil|ng'ex::rensesarera”0‘@1ﬁd 1

a) Pre-incorporation period b) post Iricdrpnra’ﬁorvﬁenod -
c) Insales ratio d) In tame;ratm ' s

Q.1 B) TRUE OR FALSE (any 10) TG
1. Loose tools are shown under current'llabllitles

Short term loan is the loan dué ﬁ:er mare tha," :

Calls in arrears is added togubg:glbeﬂ ::aq;ntﬁr[:w ! s &

The document inviting oﬁerfmpublmfor%u qiptﬁ:lnis shafg‘-c&?‘ﬁflcate. ‘E.

Rate of underwriting. CGm[‘ﬂlSSIanin casg of del:{&ntures =gai;1natexceed 10%.

o i

Issue of debentures musf 'iawsantﬁ;:rﬁeﬂ by&sfé‘te gme ment

®NO YW N

Capital reserveﬁ‘md Ntsible n?a‘ﬁt Bee
Preference sharghotdershama mtm‘g nght5 < ,'._5 ; =
10. Preferencé ghg\‘és ma?,b‘gg&ollweﬁ;ble mm eq ultﬁ,r shames
11, For comggtawﬁg*afpr% cqrgurp\gdn '

. pqu‘ tﬁadvegf’t;sement expenses are
allocated;tn-%lme:ﬁ'a‘hﬁ,, St A _- N
12 Frnﬂ:l: pno’r t%ﬁkﬁﬂpﬁfﬂlﬁ@h—j \Ealia blaffqr pav‘ment of dividend.

i -

'L.
Q.2 'rhe aalﬁn‘q@sﬁ ce Eofﬁtrﬂightiﬂt&“ ,\l
SSRS \Eiahujltaea o SR Assets z ’f!
s]iare‘(;\épltal'* I -| Fixed Assets 15 00,6@0 |
{125,000 Equity Sha res of *r mﬂ Investment 10.00,000
g‘ﬂ;‘eﬁﬁh AypaEs s (M.V. % 10,10,000) s
- okt \mmﬂ 396 Redeemabla \_‘F NG Bank Balance 50,000
" 3 W&ﬁ%&hmﬁ Qf%m each _\_;.. Other current assets 20 20’000
o[- X90 per shmnald up - 4 9,00,000 g
e -General. Eas‘gr@ 5 | 3,00,000
PSRN Pmﬁt& Loss Alc < Yoo | 3,19/000

IJ}V ld&\nd. Equahzataon r.Res‘erve 2,00,000
ST suhdm Cmdtmrs i 3,51 000

Qn—i‘?ApIﬁ Qﬂl?“ iﬂe company made a call of 10 each on its
1:311 mqngy was dtﬂy rece wed AII pre" ﬁce-s‘ﬁa‘fes-

L2 5 Tl PASE P

L A

S "‘.*,._‘.Z'?-;-,[\e-d&!np"tm[}, Hie company |ssued

: ey
o e, S Y AT Pl e L M

12



QaP Code 35194

10% after utilising available resources to the maximum extent, keepmg m ViE’._‘V the
provisions of the Companies Act, 2013. All preference sharehquéré were pa|Q‘ of-f
except one SharEhOIder hﬂldlng 150 preference shares, "-.'.h ¢

Pass Journal Entries in the books of the company assum rnfg thaf red—“empt;dfr is duh&
carried out.

Liabilities

2,000 — 8% Redeemable
Preference shares of ¥ 100
each, fully paid

. 1,00,000 Equity Shares of ¥ 10
each, fully paid
Securities Premium
Profit & Loss Account
Sundry Creditors

e 4575/000
) 'fzyis 000

i .'

- 1,50,000

i

tors :

"

On the above date theﬁirac

"‘{\.

\ .'\\. 13\

1 8355 ha\t;es%ary oufnal entries in the books of Moonlight Ltd.
ré'qh :Fément&nf Cem panles Act 2013,

bj ',1&% débenture.a‘txziﬂﬂ (at pa r]
3 d T ha\ve theur hdi:lmgs redeemed for cash. Assume redemptior
$lj Thé hplgier:sgf z 1 40,000 debenture accepted option (a);

: f g.fml d e|<5 gf F 1 60,000 debentures accepted Dptiﬁn
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- 2 1

Q.3 The following balance appeared in the books of Paradlse L’fléf 0*'1‘1 4 El .2.

I 12% Debentures % 7,50,000 I :

ii.  Balance of Sinking Fund % 6,00,000 - P

iii.  Sinking Fund investment % 6, 00,000 rePfESEﬂtEd_hY'-lﬂ%“ &

bonds of Government of India. : 7
Annual contribution to the sinking funds was %1, 2@ GDO made ;:m 3\1& M;c:; e‘%fg

vear. On 31-03-2013, balance at bank was % 3, 00,000 befaré rece pt.ofint athec

company sold the investment at 90% for redemﬁtl@n ﬂf debenturé at 3 premmm_ﬁf_-%_
10% on the above date.

You are required to prepare the fol!ow.m
2013.

_L.»‘-.‘w!

5@&0@_ séctme

Debentures Account
Sinking Fund Account

Paid up Capital: . .
10,000 qu.ntyr
each

C: 2,00,000
,"Lgsgr DEﬁT‘E‘CIa'l'Ion 40,000 1,60,000

"\"

5,000 12% Redesr LR Furnitireat cost 90,000
PreferEn;é§hare§¢f ?,ﬂ:!mach“ 3‘?&,}@@‘_6’,&&35; Déprematron 30,000 60,000
RESEKWESH&PNV"{IQPE:; & 2 A ﬁ:lrrént Assets, Loans and
Profit&loss Account . = . rances 1
Securedloans: © ) stock 58,000
li%aaﬁbedturek\ ; 770,001 Debtors 52.000

._-'._: xu]'lggcfwécﬂ\”r@hﬁf& = Bj” Bank 65,000
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- reciat . provided @ 2% per annum on cost, The fnrluwmg
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buil _wassold for % 2, 20,000 to another company,
"deﬁ,ﬁbrifl} Years at annual rent of ¥ 16,000,

: 1;‘) 15‘2% _}heptl:fres were discharged at a premium of 10%.

who leased jt back to




You are required to draft the necessary journal entries to recor‘d the above
transactions. ; R Y
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Q.4 On 1* January, 2013 XYZ Limited issued 10,000 fn‘te&ﬁ years ciebe"ntures of % IOU_ :
each bearing interest at 10% p.a. One of the condmons of issue Was t‘ha’t the cdmp‘nt"?' :
could redeem the debentures by giving six month’s notice at any time a—ﬁ'.ar 5 years, at
a premium of 4%, either by payment in cash or by : allctmenf o‘f“preference‘shﬁres and /'
or other debenture at the option of the dehentureholders By .

On 1°* April, 2018 the company gave notlce to the: debentureﬁcdﬂers Of itS mtentrcm
to redeem the debentures on 1% Ol:t‘t)ber 2018 either bif paymeht m cash or by
allotment of 11% preference shares cifif 16‘0 each at ? 13l pEl‘ share_ 0( 11% second
Debentures of X 100 at X 96 per debentuﬁe : Pl i

Holders of 4,000 debentures' 'ccenfed the crffer af‘ the preﬁeréﬁcashares holders

LA | L bkt
how discount on lssue afwaeﬁentures can be deart rrLtTre at’csounts Ignore interest.
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Grpss prof' L B U, R 7,00,000
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e Prmtmg;StatmnEry S5 15,000
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Additional Information: PhgteiRasiy "
1. Monthly sales were % 5, 00,000 for pre- mcorpnratmn p*eﬂhd w};rrtg fatalﬁ[gafbt

o i

the year were % 70, 00,000. S e
The sales were arose evenly throughout the concerziad pqrmd‘_‘
2. Office rent was X 84,000 p.a. upto 30™ September Eﬁlﬁ’f& o
It became X 1, 08,000 p.a. thereafter. S S

3. Travelling expenses included X 7,000 tnwafds salF_is pramotlﬁn-, .“

4. Auditor’s Remuneration was payab!eforthe wholg\y&ar“' Gl R e ,

5. Bad debts written off included a debt of - X°4,000 taken over from thg» VQWQF :
while the remaining were in respect of gnqu m;d in Septembe.r,, 2111?': =Y ‘ 23
6. Depreciation includes % 6,000 far asset‘ acqufred* in. th : -past mcorpgritlnn
period. Sa : ; =
Prepare profit & Loss account fcu: the z\ea_;: ended 3151\‘;\7@;&5” 2\_!1118":1 - x -

form showing profit/ loss fur the prg andpmtheqﬁm*afm“ er]gd S

Q.5 Nishan Ltd. was m::orpuratﬁd*gn 1 PgUgust iﬂi?*to agr;.imre a husmess as on 1%
April, 2017. The first asqgun‘ts‘w‘e:eclqée& cm\a\ais‘ Mar,rfh 2018,
'agae“zme@ in ‘th“&l*mﬁt and I.‘sa&s Ktcbth*
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8,60,000

Bad Dél}-ts :
Salanes ;
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Advertising< - . " 1,20,500
-f Bt 58,600

= 72,800
ctricty Charges 44,400
--]murangg?;ﬁmum-'- 3 ,h' 24,000
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Q.P.-tudé 136194

Sales for each month of December, 2017 to March, 2018 were dauble the

monthly sales of April to November, 2017, '

Bad debts % 500 were in respect of sales effected two VEBTS 330* .. Ay

4. Mr. Amit was working partner in the firm entitled to«a\rEmun&fHT'@ﬂ @ urﬂﬂﬂ

p.m. from 1** August, 2017 he was managing directars ofa company. emfﬁeﬂtﬂ
salary @ % 15,000 p.m. The remaining salar*,..r is ta‘twufle]'\ks erﬁpiﬂyﬂddurmg‘ .
the perlod 1% July to 30t November, ZU:L? e S ; 7
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b) What rules must be cc:-mphed for s&Ue.xo?Ebr.:ug» Shaﬂas
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1. Sources of Bonus |ssue,‘:\m
2. Sweat Equity sha res,\_ SIS
3. Issue of Debentures #s&qlTaf{&r.aL%‘Eur
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Q.P. Code : 32641
[Time: Three Hours) [ Mm 100)

Ploase cheek whether you have got the right ql.métaon pc.lpu P,

I R

NEB: 1. Al Q\mm are compulsory. . gy
2. Al questions carry equal marks. IR0 (5
3. Use of simple calculator is allowed, & .5 ’
4 W neat diangrams wherever necessary, - -

Q.1 A. Explain the followine con ts (A R ot bade)
I.FhmrmialAﬁﬂnmstmnt?nu i L_“‘_) NS S
2. Net Social Advantage
3. Regressive Taxation
4. Impact of tax
3. Revenue expenditure
6. Concentration effect
7. Zzro based budsst
£. Goods and services fax

B. Choose the right answer from tht = ons
1. PP curve is illusirated to e:q;_l%nﬂ_-“-ﬁ*_ SR o
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().2 Annwer any 1WO of the [ollowing)
i, Dosplain the menning anel fnsetions of bl Mhmge,
B Moeplivii the Bt ol e prinuiple ol M .-'ir_u_'.InI Adviintige
v Piamibne (e ol of govermmt aorvouting mirhel filure j
0.0 Anawer niy TYWO of the Following
f Poplain the objectiven O Lt b,
b, How do elaticitlen of domond and sopply wifout the incldense of txation’
¢, Wt i note on Taxation ms AnilelniTationaey mensire.
04 Answer iy 1WO of the (olowinge :
o Heplnin the offeutic ol pulilie prprenditirg, -
b, Txamine e ciisen Tor nersaing ity oxpanditure.
¢, Widte 1 nota on Pabitly dobbanmiagemont, " T '.
Q.5 Amiwer any WO of (e following:
0 Wit ire (e objectives of [fiucal Polley? !
by, State the fentures ol 1'unotional 1Hnanee,
o, Hxpladn fentures of 1M Aot 2003,
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